h3FED BY BERE 82 HRE

BRE 2-1

X a,b DI KAKIE A GCD(a,b) & EL.

(1) GCD@1073,2257)
=GCD@1073,2257-1073x 2)
=GCD@1073,111)
=GCD@A073-111x9,111)
=GCD(74,111)
=GCD(74,111-74)
=GCD(74,37)

-[37]

(2)  GCD(122713,130013)
= GCD(122713,130013 —122713)
= GCD(122713, 7300)
= GCD(122713, 73 x 100)
2T, 122713132 T 5 THEIRARN
DT, 100=2%x5" LT HWIZHE (kKA
RN 1) THDHIND,
=GCD(122713,73)
=GCD(73 x1681,73)

-[73]

BE 2-2

W a,b DI KKIE A GCD(a,b) & E<.
GCD(n,n +6) = GCD(n,6)

ThodNb, RRAKEELTHY 555D

X, 6 (IED) KD
6,321

R B 5.

WE, #n=6,3,217F5L, ThEh
GCD(n,6) =6,3,2,1

ERRDDT, TRHITTRTRAAKEE L

ThH 28 TH5.

LT, .

B 2-3
(1) 83 & 73ICHRREARITY &,
83 = T3 X1 o 1() ceeeveveerrenneemsssncsnisunens @

3=1x3
LB,

(2) HABRIETHEOLNDRY D, NIEFKIC 83 &
BEHNTEELIDOT, KEDORV 1 H
83 & 73 W THRHET,
83 + T3y =1 seeeeesmsssnsisisisisiis @
BT TR,y MELND.

ZOFIIESWGHRET L, DXLV
10 = 83 — 73 seeveeeressneersssinnsiiiiiiiniinnens @

DT, @EOITRALT
73=(83-73)x7+3

Ce 3= C83X T+ T3 X reeeeerennnenniiiiiiinans @

®, ®EGITRALT
83-73=(-83x7+73x8)x3+1

S.1=83%x22-73x25

X oT, @& x,y L LT

MRESOND.

(3) 83x22+73x(=25)=1D0% 6{%L T,
83x132 +73x(-150) = 6
THDHNE, 83x+T73y=6 2= 78K
x,y & LT
lx =132,y = -150|
NROMD.




